New Maths GCSE: N8 - Fractions of an Amount

Correct Answer: ABCD

Explanation:

What is.. Correct Answer: ABCD
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What is.. Correct Answer: ABCD
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Correct Answer: ABCD

Explanation:

There are 30 children in a class. g of the
class are boys. How many girls are there?
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Correct Answer: ABCD

In Mr Ang’s class, -g« of the pupils wore glasses. Explanation:

18 pupils did not wear glasses. [l i

How many pupils were there in Mr Ang's class?

Correct Answer: ABCD

Explanation:

There are 40 children in a class. 13—0 of the class

like football. The rest of the class prefer
tennis. How many more like tennis?
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: Correct Answer: ABCD
Fra ctions Explanation:
Cory has 2 red crayons and 1 blue crayon.
What fraction of Cory’s crayons is red? | e
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Correct Answer: ABCD

Explanation:

1
John wins tzoo HC g;vcs I tO hib ..........................................................................

mother and 2 to his girlfriend. || REEEEE SRS PTTR ST
;

HO\V n']uch doeb he ha\,e left‘) ..........................................................................

A. £50 B. £60

C. £70 D. £80

Correct Answer: ABCD

Explanation:
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